Deviation [sigma] Deviation [sigma] Flux

Deviation [sigma]

1.0

0.5

0.0

-0.5

20

10

-10

-20

20

10

-10

-20

20

10

-10

-20

Al1742-294 OP06806_W1_NO05_200s.txt / MJID 51277.994302 / burstid= 938

L Grey line: exponential fit Peak flux: 0.828+/- 0.279 c/s/cm? _
| Black line: power law + gauss fit Fluence : 15.75+/- 5.71 c/cm? B
| Dashed line: power law 7 : ) |
i Duration: 86.74+/- 33.05s 7
L Best fit model: 1. B
— Best fluence model: 1. —
B H H Best duration model: 1| ]
- LR
[ ‘ ‘ L) | ‘ ‘ i e S HINE ‘ ‘
— = B! | I ‘
. T i ] M W | HH} WWH
; Exponential fit é
= Expon.time: 43.73+/- 14.68 s (chi*-red= 0.86) =
S | ey L it fogtb Wl b Wt b
= f i #HWWJM f %{ i ﬁ Q *ﬂﬁﬂﬂwm % ﬂ Hﬁﬁmﬂﬁw i *W%H%*+wH+Hﬁﬂ#***HWWWH Mﬁwﬂ * W Hﬁw@ﬂmﬁ HT WHM ﬁﬁ ﬂﬁﬁﬁﬁﬁ%ﬂmﬁﬁﬂ f Wﬁﬁ m Ml %&Qﬁ;
; Power law fit é
E Power law index: -0.632+/- 0.179 (chi*-red= 0.86) =
ST T RTTLAITTNT Y bt AN Wt
= f i Hmmw M iy f N%Wﬁww M ﬂ HMWWH i *H****+*H*+++++*%++H+*++#+*ﬁmﬂﬁfwﬁﬂ WWH + W +**WHMWW WM ﬁﬁ *+++*++Wﬁwﬂwﬂ i Mﬁm i *EH%
i T T T T T T T T T T T T T T T T T T T T T T i
—  Power law fit plus Gaussian (st.dev.= 63.94+/-23.33 s, fracgs= 0.32+/- 0.23) =
- Power law index: -0.976+/- 0.866 (chi’-red= 0.86) -
= bl T T, bt b Wt
= f i ﬁ%ﬁww { W H j N %ﬂﬁﬂﬂwﬁw M m mwww& i *H*ﬂ%+*HH++*++H*H*w+**++MHWWHH WHM * W Mﬁﬂww HT WM ﬁﬁ *+++mﬁ%ﬁ%ﬂmﬁﬁﬂ f Wﬁm Ml %%%E
E 1 L L L L L L L L L 1 L L L L L L L L L 1 L E
0 100 200 30

Time [s]

0



